Cisco Chapter 6 Revision Guide

Question 1

What are ‘runts’ on a network and what effect would they have?

Learn about network problems and what causes them!

Question 2

After 16 attempts a MAC layer is still unable to send a frame. What are the causes (Choose 2)?

a) The destination is more than 16 hops away and unreachable

b) A physical problem exists on the network

c) The destination never received a token and therefore could not return verification of the CRC

d) The network administrator assigned the wrong MAC address to the device

e) The network is experiencing extremely heavy traffic loads

f) The physical layer has not yet reached a state of convergence

Learn about delivery failures and their causes!

Question 3

What is the slot time on a 10Gb network where the furthest station is 350 metres away?

a) 10.6 ms

b) 14 secs

c) 0.004 ms

d) 4.62 ms

g) None of the above, slot time is undefined on this network

Learn what slot times are and how long they will be!

Question 4

Describe what happen before, during and after a collision on an Ethernet network

Learn about collisions, their causes and what happens during a collision and afterwards!

Question 5

Which of the following are Ethernet errors? (Choose 3)

a) Jabber

b) Collision or runt

c) FCS error

d) Multiple access control errors

e) Bit transmit errors

Learn about errors on an Ethernet network, their causes and solutions!

Question 6

Which of the following would be representative of CSMA/CD? (Choose 1)

a) Carrier sensed multiple accident / collision domain

b) Create some multiple accesses / carrier domain

c) The NIC listens for an absence of a signal on the media and starts transmitting. If two nodes transmit at the same time a collision occurs and none of the nodes are able to transmit

d) The router listens for signal noise on the line.  If none is detected then it send the all-clear to transmit to all hosts on the network
e) None of the above
Learn about CSMA/CD, It’s meaning and the functions it performs!

Question 7

If we described a network topology as ‘deterministic and collision less’; to what sort of network may we referring?  (Choose two)

a) Ethernet

b) FDDI

c) Extended Star

d) Mesh

e) Token-Ring

f) Learn your topologies, and how they operate at levels 1 and 2 of the OSI Model!

Question 8

Some of the fields permitted or required in an 802.3 Ethernet Frame are…? (Choose 3)

a) Length/type

b) Preamble

c) Data

d) Ethernet

e) FCS

f) Data link

Learn about Frame fields, what they are, how and why they do what they do!

Question 9

Name the two sub-layers of the OSI data-link layer and their primary role

Logical Link Control – Links the data layer with the upper layers

Media Access Control – Controls how the physical media is actually accessed

Learn why the data link layer is sub-divided and how!

Question 10

Name three standards employed by Ethernet that will limit network service interruption

Maximum segment length

Maximum number of stations per segment

Maximum number of repeaters between segments

Learn what limitation placed on a network will improve performance!

Question 11

Ethernet is widely used, which of the following characteristics would promote this?  (Choose 3)

a) Ease of maintenance

b) Collision free technology

c) Scalability

d) Low cost of installation

e) Compatibility with 802.5 standard

f) Collision avoidance capabilities

Learn the history of the Ethernet standard and why it has become the de-facto standard in industry today!

Question 12
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What does the above diagram represent?

a) IP Addressing system on a router

b) Hub addressing system

c) MAC Address

d) IP address

e) Decimal to hexadecimal conversion formula

Question 13

An increase in signal amplitude is detected on an Ethernet network, what has happened?

a) Power surge form an a/c power supply

b) Power surge from a d/c power supply

c) A interrupt has been caused from a remote source

d) A collision has occurred somewhere on the network

e) There is a blockage on the network

Learn about the telltale signs of network problems!

Question 14

What is indicated when the length/type frame filed is greater than 0x600?

a) DIX formatted frame header

b) Ethernet II code used to interpret the frame

c) Length of frame is 600 bits

d) Half duplex transmission being utilised

Learn about frame fields!

Question 15

Which Ethernet data link layer frame comparisons are correct?

a) Higher speed networks require more fields to be included in the frame

b) The faster speed frame structure are incompatible with slow networks

c) The frame structure changes with each higher speed

d) All speeds of Ethernet have nearly identical frame structures

Question 16

What length is a MAC address and how is it represented?

48-bit hexadecimal address usually burnt onto an NIC card

It is represented by 12 Hexadecimal digits

What do the two portions of a MAC address represent?

OUI Number – Organisational Unique Identifier (Manufacturers unique assigned code)

Manufacturer assigned number making unique MAC address

Learn about MAC addressing systems and how they operate!

Good luck on the exam!
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